318+282=5+3
. A
— 018

Using these strategies, can you find more
nurnber sentences which have the same
totalas 3+ 3

Jsing the digits O - 9 only once in each
af the spaces above, what is:

*  The largest sum possible

»  The smallest sum possible

5 there more than one way of creating
=ach total?



subtracting - Same Decimal Pl (Tuesday)

Dexter and Annie have some money.
Dexter has £3.45 more than Annie,

They have £12 45 altogether.

How much money does Annie have?

Dexter \
Annie |

In this number pyramid, each number is
calculated by adding the two numbers

underneath.
1N.32
3.25
h84 | 215

1.06 0.05




\dding - Different D.P. (Wednesday)

Eva is trying to find the answer to

9@ 4144 + 14

Here is her working out.

C 4. 144
+ 1.4

4 .248
. J

Can you spot and explain her error?

Work out the correct answer.

Place the calculations in the correct
colurmn in the table,

9.99 + 01 [ 9.99 + 1 ]

[9.99 + D.DEH] [9.99 + D.D1]

Sorme calculations might need to go in
more than one place.

Exct Eurd
naE LF-Ch-:i'lﬂl! n o ::I‘:'E_I;' 5] 5 :T:.}-_-ll
Mo ascharge the cnes the 1zrths i i ; i
oiumn columr I col

Add 2 rmore calculations to each column.



Subtracting - Different D.P. (Thursday)

If there are 5 R
hundredths and |
subtract nothing from
it then there are still 5
hundredths. Y.
4 .9
— 3 .85
1T .15

Do you agree with Whitney?
Explain your answer,

Teddy used a calculator to solve:
314 — 1408

When he looked at his answer of 1/.32
he realised he'd made a mistake.

He had typed all the correct digits in.

Can you spot his mistake?
What should the carrect answer be?



\ddina - Same. Decimal Pl \NSWERS (Monday)

Using these strategies, can you find more
number sentences which have the same

totalas 3+ 3

Using the digits O - 9 only once in each

of the spaces above, what is:
*  The largest sum possible
*  The smallest sum paossible

ls there more than one way of creating

each total?

Children may find
a range of
answers. The
important teaching
point is to
highlight that you
have added the
same to one
number as you
have taken away

frarm the ather.

Largest
975+ 864
965+8.74
964 + 875
974 + 865
Smallest
0.24 + 135
0.25+1.34
0.34 +1.25

0.35 +1.24



Dexter and Annie have some money. Annie has £4.50
Dexter has £3.45 more than Annie.

They have £12 45 altogether.

How much money does Annie have?

Dexter

Annie I I

In this number pyramid, each number is
calculated by adding the two numbers

underneath,
11.32 o
[ro7 {325
3.25 HENEREE
594 | 213 488 [ 106 [ 107 [00s

1.06 0.05




\dding - Different D.P. ANSWERS (Wednesday)

Eva is trying to find the answer to The digits are lined
up incorrectly.

i ' Eva needs to line
up the decimal
paoint,

4 ' 1 4 4\" The correct

answer is b.o44
+ 1.4

4 .248
N J

Can you spot and explain her error?

Here is her working out.

-~

Work out the correct answer.

Place the calculations in the correct Mo exchange:

calurmn in the table. 999 + 0,001
999 +01 | 99941 | bchangenthe

ones column:
1999 +0.001| | 999 +0.01| 9s0+1
Some calculations might need to go in 999 + 01
more than one place. 9.99 + 0.01
Excharge it | Eschange in &'-I:;“i" E"“'IT;“"
Nogchange | o | whelenihi | e, | sessedes || £XCPENGeE in the
s e | tenths column:

999 + 01
999+ 0.0

Exchange in the
Add 2 more calculations to each column. | fundredths

colurnn:

89899 + 001



Subtracting - Different D.P. ANSWERS (Thursday)

Whitney is not

~
If there are 5 correct. She needs
hundredths and | t0 USE Zero as a
subtract nothing from place value holder
o° it then there are still 5 ' the hundredths
hundredths.

/  column of 4.9 and

then exchange.

4 09 Encaurage
children to explore
-3 .85

mare efficient
1T .15 mental strategies
as well as

carrecting the

Do you agree with Whitney?

. formal methad.
Explain your answer.

The correct

answer is 1.05

Teddy placed the
decimal point after
the 4 making
14.08 instead of
1408

The correct
answer is 29.992

Teddy used a calculator to solve:
31.4 — 1408

When he looked at his answer of 1732
ne realised he'd made a mistake.

He had typed all the correct digits in.

Can you spot his mistake?
What should the carrect answer ba?



